0000 I00(@Oo:0000) 20100 40 210

2 0000000000 (moOo)

T /

Y
O000,20 ¢ 0 2z,y0 100

' = ax + by
Yy =cx+dy

/

gooogn :c:(
Y

)DDDDDDDDD :v’:(x)DDDDDDDDDD

aZ)DDDlDD

ggobooboo,goobb 1ou0000b. 00,00 <
c

0ooooooooo.

00 2.1 00000000 6000000000000.
1 0

(DDDDDDDef:< >ef:( )DD@DDDDDDDDDDDe;%
0 1

ooooo,b0b0oeOnDOoDO.
x

(%DDDDDsz(
Y

/
)DD foooooooonDoon w’:<x/>DDD
Y

0o,
x' = xe| + ye,
goooooooon.
(3 00000,060000 100000000000 OOO, 00000000
og.
(40 »,O000O0OD bODODODODDODODO,0 L+6, 000000000000
goooooo,0oobbbooooooog.

y
0000 z=z+yy/—10 ¢000 ¢z000,00 2000000000000 &
ooo.

()20 2000000 100000000000.

(2) c=cosf++/—1sinf 00000, (1)000000 210060000000
0Doooooo.

g 22 c0000000000. 000000 m:<$> gogo,0booooo

(000 +a000)



U oboooob,ogoobobobooon.

00 23e,b000000000O00O0O,000000DO0OO0DOODOODOO
go.

(a)@,b00000000.
(b)a, b0 R2ODOD0.

(00O000D00000ODO,000000000000DDOOOOO.)



